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Abstract
Some of the ground-state energy of the atom can be expressed in formulas which are approximately
same to the experimental measured values. These results show that the ground-state energy of the atoms
are related to the interaction coupling constants.
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We know that the ground-state energy of the hydrogen atoms can use this formula
h)(R C h)(R C
said,M ,Then I found that can be represented as,M =
(eo) (eo)
(Roo)(l.lo) .The ground-state energy of the helium atoms can be expressed with
(h)(Roo)(c) % (gz)z or (Roo)z(me)(gz) or (Roo)z(me)[ao]z'r[

(eo) (ge)? Y (ep)2m Y (eo)(8w)? '
(Roo)z(c)z(me)z'r[ . (Roo)z(c)z(me)z'r[
.Then I want to say this
(8w)(gs) (8w)(gs)
(Rao)?(€)*(me)(gs)(82)
2m(gw)(ge)?
isolated, is contact with several formulas in front of the evidence but not self

this formula,

is wrong, , It should

r,

be changed to, .Because the evidence before (gs) was

consistent, and correct after this, and I will talk about the following the ground-
state energy of the other atoms can use formula said evidence linked together.
That is to say, from here can get strong interaction coupling constant formula.

Why front that is wrong and he said, could not the preceding is another form of
this? Because if it is right in front, they are simultaneous, finally to get such a
result, (85)% = (g0)(gw)?41 , (e,)(c)?2m3 = 1. And this result will have

the final conclusion, (ge)T[ =1, 41‘[3[0(0] = 1. This how to see how to feel

strange, so I just threw away directly, if anyone think this direction will also
continue, welcome to continue filling holes.

Then, two days ago I bored over the elements of the ionization energy table, I just
think, if it is all the ground-state energy of the atom can be expressed in formula,
will have a connection and interaction. Then I tried several discoveries, as can be,
and also have a connection and interaction, and then found the connection
between the interaction coupling constant.

(1, (e0)(©%(8s) = (g8u)(ge)®
2, (gs)z(ge) = (gw)(gz) ’

3, (gz)z(gs) = (gw) '
\ 4, (gs)(ge) = (gz)3

For instance, < And these links found from

the bottom.



The foIIowing[Hl] subscript as the atomic number, [Hl] is expressed as the

ground state energy of the atom.

Hydrogen atoms [Hl] and the ground-state energy of the helium atoms [HZ] can

[Hi = (822 _ [Hi] = (gs)*
be represented as [H,] * (20)? =~ 1, or, [H,] * (8u)? ~ 1,

Helium atoms [HZ] and the ground-state energy of the lithium atoms [H3] can
H
M) (2 1

be represented as =~
[Hz]  (ge)

Lithium atoms [H3] and the ground-state energy of the beryllium atoms [H4]

[Hz] = (8w)
can be represented as — % Ew) ~

Hal  (g0) '

Beryllium atoms [H4] and the ground-state energy of the boron atoms [H5] can
[Hy] % (82)° ~ [Hy] % (8s) ~

Hs] (g

be represented as =~ 1, or,
[Hs]  (ge) [Hs]

Boron atoms [H5] and the ground-state energy of the carbon atoms [H6] can be
H 2
Hs]  (g9% _ 4

represented as
[He] 1

I

Carbon atoms [H6] and the ground-state energy of the nitrogen atoms [H7] can
[Hel  (Bw)(gx)

H,] (g) '

be represented as

Nitrogen atoms [H7] and the ground-state energy of the oxygen atoms [Hg] can

[H7] 1
be represented as —— * =~ 1,
[Hg] (g2)

Oxygen atoms [HS] and the ground-state energy of the fluorine atoms [Hg] can
[Hg] 1

be represented as —— ¥ —— = ,
[Hol (82)

Fluorine atoms [Hg] and the ground-state energy of the neon atoms [Hlo] can be

represented as
[H1o] 1

I

Hydrogen atoms [Hl] and the ground-state energy of the gallium atoms [H31]
H 1

[ 1] * ~ 1 ,

[Hz1]  (82)3(ge)

can be represented as

Zinc atoms [H3O] and the ground-state energy of the gallium atoms [H31] can

H (o4
be represented as M * [—0]2 =~ 1,
[Hz1] (82)

Gallium atoms [H31] and the ground-state energy of the germanium atoms [H32]

[H31] *; ~ 1

can be represented as
[Hsz2]  (g8w)



Hydrogen atoms [Hl] and the ground-state energy of the gold atoms [H79] can
[Hq] « 1

ol ¥ Gy L

be represented as

Platinum atoms [H78] and the ground-state energy of the gold atoms [H79] can
[Hysg] " (8w)(8s)

Hool  (g2)

be represented as

Gold atoms [H79] and the ground-state energy of the mercury atoms [HSO] can
[H7o] " 1 ~
[Hgol (8w)(82)

be represented as

Why only part of the above, because I feel like writing too much trouble, don't
want to get the other atoms, have a lover, can try, I feel the ground-state energy
of the atoms and the interaction of the relationship between the coupling constant,
probably that's it.

[This is machine translation articles in English, may be some local translation is
wrong, because my English is too poor, if the English see you want to vomit,
behind have a Chinese, I suggest you translate it again.]

In addition, in the process, I found that hydrogen [Hl] and helium atom[HZ] rest
(82)(8w) ~1 or [H'] % (8s) ~
(ge)?(gs) " [HZ] O (ge)

. 2
Them together, can have, [H,] * Ll * (6:)(8s) ~1, 0 {Ej {311 * (glz) ~1,

. [Hz] [HYT  (8w)
H H
[y * [H ] * (g2)(8s) ~ 1 , and these and the above "about equation" are

or,
[Hz]  [H?]  (gw)?(ge)?
self consistent.

mass can be expressed as *

Then I think there are hydrogen quality formula ,
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And it has a physical constants formula,
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And the standard model of particle physics particle rest mass "equation”,
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So, atomic number, the ground state energy, the interaction and coupling
constants, static quality, physical constants, they can contact together, then here
is less a "mathematical structure" them "as a whole". This, like cooking, dishes are
ready, I will sent a chef. As for myself, recently is learning cooking, now I have it

posted online, see have no one to fry it, or, wait me alkaloids in dacheng, fry it
out myself.

Reference: http:

.php?title=FEE#EF&0ldid=68629437 .
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